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Adda47

Q.1 Inwhich of the following conference/summit was the Agenda 21 adopted?
(A) Kyoto Protocol Conference 1997

(B) Paris Climate Summit 2015
(C) Rio Earth Summit, 1992

(D) Montreal Protocol Conference 1987
(E) Not Attempted

Fafied 5 Q ford Tmiem/ReR e & Toiel 21 $1 SO T UT?
(A) TSI Uit Id T™IT 1997

(8) URH Sietary RRER /e 2015

() Rt geat FRmaR T, 1992

(D) AU WiCIhId T¥HTH 1987

(E) T a1 foran T

Q.2 What percentage of Carbon is found in Atmosphere?
(A) 01%

(B) 10%

(C) 50%

(D) 100%

(E) Not Attempted

BT P1 fora-1 Ufa=Id argHSa & Tl oiTdl 67
(A) 01%

(B) 10%

(C) 50%

(D) 100%

(E) TR gl feham ra -
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Q.3 Which of the following is mainly responsible for Acid rain?
(A) Oxides of Fluorine

(B) Oxides of Carbon

(C) Oxides of Chlorine

(D) Oxides of Sulphur

(E) Not Attempted

Roffed § Qe <y aui & ot T U 4 irgR 27
(A) TR & SRS

(B) PTEH & TS S

(C) FARM & T3S

(D) TeHR & HTZS

(E) IO e fobar T

Q.4 With reference to ‘Photo-Chemical Smog’ which of the following
statements is/are correct?

1. It occurs in warm and dry climate.
2. Itis a mixture of smoke, fog, and Sulphur dioxide.
(A) Only 1 '
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Not Attempted
YT D Y (Plcih b W) & deH A Fafafaa i S s
/A B R 3/3?
3. g T U4 Y Saarg & e o
4. T Y37, PG 3R TR SISHIAISS BT YU gl 6|

(A) Pae 1.
(B)hdd 2.
(C) 1 3R 2 gL
(D) 1 3MRAEI2
(E) TOT ol fobar 7T
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Q.5 With reference to ‘Agricultural Drought’, which of the following
statements is/are correct?

1. Itdepends upon the level of development of irrigation in any area.

2. Shortage of food grains and fodder as a consequence of drought is termed
as ‘Akal’.

(A) Only 1

(B) Only 2

(C) Both1and 2

(D) Neither 1 nor 2

(E) Not Attempted

FRgEr F e §, iR i s wA sy ad ¥/
1.9 fopdlt oft & o Rfeng & fawma & TR w ek dear 3
2.8 & UROTAEY W 3R IR Bl S F) ST 61 i g

(A) a1

(B) had 2

(€) 1 3R 2 g
()T 1 3RTE2
(E) T g1 Tehar T

Q.6 Which of the following is not an example of Atmospheric Hazard?
(A) Drought

(B) Flood

(C) Frost

(D) Hailstorm

(E) Not Attempted

RafifEd & & 91 91 argHs T STTaT Pl IaTeR el 62

(A) @I
(B) TG
(C) T
EISIELE
(E) VT Tg] fopat T
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Q.7 With reference to ‘Humus’ which of the following statements is/are

correct?

1. Humus takes a very long time to decompose.
2. Humus is highly resistant to microbial action.

(A) Only 1

(B) Only 2

(C) Both1and 2
(D) Neither 1 nor 2
(E) Not Attempted

g o § Pl A Y o /8 $UT IE 8787
| B ) Rufed BF  agd da e el €|
2 TYF YeHSd! fopar & ufa srafiie wieRidh 81

(A) P 1

(B) HAd 2

(C) 1 3R 2 St
(D) a1 3R 2
(E) I T8 fepam an
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Q.8 With reference to ‘Biomass in Sea’ which of the following statements
is/are correct?

1. The pyramid of biomass in sea is generally inverted.
2. Biomass of fishes far exceeds that of phytoplankton.
(A) Only 1
(B) Only 2
(C) Both1and 2
(D) Neither 1 nor 2
(E) Not Attempted

g 3 ST 3 Wl 7 Fraf 318 @ R w6 /R
1.99% B I BT RIS amrae: Seer g e |

2 TSR &1 SR BSe I @ide Q Hel fid B

(A) BT 1

(B) ad 2

(C) 1 3R 2

(D) T 1 3MRAE 2

(E) I T fpam T

Q.9 Forest (Conservation) Act was enacted in India in which of the following
;:ars?

(A) 1956

(B) 1980

(C) 1986

(D) 2002

(E) Not Attempted

1n¢aiiEFTcH¢&nn)an?ﬂﬁtan%;ﬂ%ﬁiiaiﬁi#ﬁ%?qznffiaﬂiﬁﬁtﬁﬁﬁrﬁ$tn11q1zn?

(A) 1956
(B) 1980
(C) 1986
(D) 2002
(E) U1 g1 fep T 7T
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Q.10 Which of the following Sustainable Development Goals (SDG) is related to
life below water?

(A) Goal 03

(B) Goal 04

(C) Goal 13

(D) Goal 14

(E) Not Attempted

gu%@aﬁﬁﬁqmmﬁmaw(wﬁ)mﬁ*ﬁ*mqﬁw
?

(A) TET 03

(B) &7 04

(C) T&T 13
LD)H&UM

(E) WY ol fohdr T

Q.11 Which one of the following is a characteristic feature of the Second Stage
of the Demographic Transition Model?

(A) High birth rate and high death rate

(B) Rapid decline in birth rate and death rate

(9 High birth rate and declining death rate

(D) Low birth rate and low death rate

(E) Not Attempted

Profied & A P T SHiIs 1 YshHu Alse P g TN B [I2val 87
(A) T T R 3R T I &

(B) T &R Td g &R 1 il J fiRTae
(C) 3 T &X 3R Ued! g &)
(D) BH T G AR FHA G X
(E) T =Te| foba T
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Q.12 Which of the fo!lowing best defines the Total Fertility Rate (TFR)?
(A) The number of children born Per 1,000 people in a year

(8) The an?rage number of children 3 woman is expected to have during her
reproductive years

(C) The difference between birth rate and death rate in a population

(D) The percentage of women in 3 population who give birth in any year
(E) Not Attempted

gaﬁr@ﬁﬁaﬂ?@ﬁwmmmmmw@uﬁmmm
?

(A) T I8 H 0T 1,000 SHfERTET IR g 3 9T = ) T
g%ﬂ%%wm 31U TS 98T & SR frds S a1 Sirgd ST Bt SUal
(C)Nmﬁmamqqamﬁamam

. (o) frdh 9 & 51 37 I mR el T e
(E) WO 51 T T

¢ Q.13 What is the name given to a diagram that depicts the size of countries
according to population size rather than land area?
(A) Cartogram
(B) Climograph
(C) Population Pyramid
(D) Proportional Circles
(E) Not Attempted

A0 & SHTHR B Y & P T TAHSH P YR W S arel NG DI ~
T fear mar g?

(A) BTCTITH

(B) FATZHIUTH

(LS foRIfPS

(D) SITUTfeies

(E) TS =751 feba Tl
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Q.14 Who among the following used the Gravity Model to explain migration?
(A) Harris

(B) Peterson

(C) Reilly

(D) Zipf

(E) Not Attempted

ﬁgﬁ'ff@ﬁ%m H 9 [59 UaRe o) g 3 fu IR ofea o1 Sui fear
(A) _

(B) Uex=

(C) et
[(D)ﬁsrtrﬁ

(E) TS Yo fovam

Q.15 Who among the following has given Laws of Migration?
(A) Clark

(B) Evans

(C) Ravenstein

(D) Weber

(E) Not Attempted

Frafafea & 3 oo yarm  Raa fiie
(A) TATH '

(B) ZAH

(C) AT

(D) A&R

(E) T 8! fopar ar
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Q.16 Who used the term 'Megalopolis' for the first time?
(A) Jean Gottman

(B8) Nelson

() pattrik Geddes
(D) Victor Jones
() Not Attempted

ﬁmt«ﬁq’lﬁcm‘ Teg 1 TART Gad Ygel forg fopar U
(A)}?ﬂ:fﬂﬁ'a:[

(B) T

() AP ew

(D)ﬁmﬁﬁ:\q

(E)W‘lﬁmmﬂ

Q.17 Classification of cities by Harris was based on which of the following
aspects?

(A) Area

(B) Functionality

(C) History

(D) Population

(E) Not Attempted

%ﬂﬂm%ﬁmmﬁaﬁ@aﬁ@rmmmaﬂmm
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Q.18 Who proposed the Sequential Stage Model of Urbanisation?
(A) Carter

(B) Clark

(C) Evans

(D) Gibbs

(E) Not Attempted

ERIDBRUI BT SHh i TR Aied forgm Twfad forar?
(A) BIER

DESIED

(CLZaI™

(o) firsq

() T ol o

Q.19 ‘K4’ is related to which among the following as per the Central Place
Theory of Christaller?

(A) Administration

(B) Market

(C) Sanitation

(D) Traffic

(E) Not Attempted

foreeTer 3 el I Rigia & SHR e’ Fafefea 7 9 fou Tefta g2
(A) IR

(B) STSIR

(C) Tl

@W

(E) U9 el fepa

12 GEOGORAPHY / 2025
SETC

Scanned with CamScanner


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

GET IT ON
Google Play

Q.20 The concept of ‘Primate City’ was given by Mark Jefferson in which of the

following years?
(A) 1909

() 1919

(C) 1929

(D) 1939

(E) Not Attempted

gt RSt F YR A SHRE gRT FuRied 3 4 e ad # &g A

(A) 1909
(B) 1919
(C) 1929
(D) 1939

(E) TS =151 febar T

Q.21 What percentage of the total water on earth is present at any one time in

the atmosphere?
(A) 1.0 Percent

(B) 0.1 Percent

(C) 0.01 Percent
(D) 0.001 Percent
(E) Not Attempted

et g 0ot R ieie et Ul T febar v argHed | HIv[G Bl 6

(A) 1.0 Ufa=Id

(B) 0.1 Hfa=Id

() 0.01 Ufa=Id

(D) 0.001 WifcT=IT

() AT Tet fopar 77T
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5Q.22 Which one of the following is a non-conventional source of energy
harnessed from the sea?
(A) Biomass Energy
(B) Natural Gas
(C) Tidal Energy
(D) Energy from Sea Waves
’ (E) Not Attempted

Froafed & & &5 vy S W ol &1 T IR-URR Ad 62
(A) SR Solf

(B) MTpfae 1

(C) SR SHuil

(D) T 1 Texl A Foll

(E) T g1 fova

Q.23 What type agricultural activity was proposed by Johann Heinrich von

Thunen in his model to the second ring outside the central city area?
(A) Cattle Rearing

(B) Intensive Crop Rotation
(C) Vegetable and Fruits
(D) Wood production

(E) Not Attempted

SR BN i 7 7 ST Hisd H iy gt &5 % arex oy R # fg
UPR I HIY TTfcfaf Tafaa &1 At

(A) TRIATeTT

(B) TT& Tl Tsh Ul

(C) T&all 3R e

(D) Aol BT TG

(E) U g1 fobam w7
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@5‘(1.24 Which one of the following is not cultivated as Plantation Agriculture?
(A) Coffee
(B) Jute
(C) Rubber
(D) Tea
(E) Not Attempted

Frofifed § A feue) I I R & wu 78 31 ol &2
(A) PTG

(B) UG ST (SIC)

(C) IS

(D) 9

(E) VT g1 fobar T

Q.25 Who among the following proposed the Least Cost Theory of Industrial
Location?

(A) Christaller

(B) Losch

(C) Smith

(D) Weber

(E) Not Attempted

- frafaRea & § feem siRiifiie R o1 =gman arTd Rigid TRarfad feare
~(A) TR

(B) T

(c) ¥y

(D) AT

BEEISEEICRIRIC
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Q.26 Which one of the following states is not part of the Great Lakes Industrial }
Region in North America?

(A) Michigan

(B) Minnesota

(C) Massachusetts

(D) Pennsylvania

(E) Not Attempted

Frafifee & & B 1 e It st A e o Sl & 1 few el
g7

(A) FTaRr=

(8) B=eT

(C) ATy
o) v

(E) VAT ol fova T

Q.27 Which one among the following is not the basis of Edward Ullman’s Theory
of Spatial Interaction in Transport Geography?

(A) Complementarity

(B) Intervening Opportunity

(C) Transferability
_(—D_) Agglomeration

(E) Not Attempted

PR & Y B Teae Seoid & URde e § R sfd:fbar o Rigid
P AUR 781 82

() HGHT
(B) BXIATDRI STER
(C) BXaraRufidr
(D) FHE
(E) TR =Tg1 ford 71
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Q.28 What is the primary objective of the World Trade Organization (WTO)?
(A) To regulate the global stock market

(B) To promote free and fair international trade among nations
(C) To provide financial aid to developing countries

(D) To control exchange rates between currencies
(E) Not Attempted

fa% SATAR WIS (WT0) T Mufiies 33y a7 27

(A) AP IR SR ) A afig e
BREEEIEESCERI G | TP AR I FgTal &1
(c) famraeite 31 ) foddtg Temar yem s

(0) G131l & S fafma R ) Rdfg s

(E) T TRl fobam T

Q.29 Albert O. Hirschman’s Theory of Regional Development emphasizes:
(A) Balanced growth across all regions simultaneously

(B) Unbalanced growth with focus on key industries to trigger development
(C) Complete government control over regional economies

(D) Development through strict self-sufficiency and no trade

(E) Not Attempted

3ead 3. fReiae o7 &ty ey o1 Rigid Wik &l o
(A) Tt &1 o T Ty Hferd faer

(8) U ST TR & Shfsd Pal gQ Srgferd fadmra
(c) & srferaRral tR qul TR R (A=

(D) e ST 3R famT MR & HenA ¥ fawr
(E) WO a1 feham Tan
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#Q.30 Which of the following countries is not a member of APEC Economic Bloc?
(A) Australia
(B) Canada
(C) Mexico
(D) Panama
(E) Not Attempted

Rrafifad i € &1 91 29 Apec Sffe sile o1 Haw T8 87
(A) Sfiferar

(B) BATST

(c) At

(D) GATHT

(E) UaTY g fhar mar

+Q.31 Which of the following is not among the list of Intangible Cultural Heritage
of India as declared by UNESCO?
(A) Chhau Dance
(B) Dussehra of Kullu
(C) Kumbh Mela
(D) Nowruz
(E) Not Attempted

e T ST TR Y e e T o e PR A
I 1 QS gl 82

(A) B3 T

(B) DT T GRIeXT

(C) P

(D) FaSl

(E) T T8l fabar T
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Q.32 Which of the following is a tribe of Nicobar group of Islands?
(A) Jawara

(B) Onge

(C) Sentinelese

(D) Shompens

(E) Not Attempted

FrffEd ¥ 4 PH FHeR @i agg #t s 22

Q.33 Which one of the following is not among the principal languages of Jammu
and Kashmir? ‘

(A) Dogri

(B) Balti -

(C) Persian

(D) Punjabi

(E) Not Attempted

N

§
FrERifRd & ¥ 1 T o0y 3R SR & UgE HIvisl § 9 78 57
(A) SR
B) dlcT !
) BRYT
(D) GTTai!
BERRERIETIKCH
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Q.34 The National Health Policies (NHPs) in India were released in which of the
_ following years?

(A) 2002 and 2014
(B) 2002 and 2017
(C) 2010 and 2017
(D) 2010 and 2022
(E) Not Attempted

R 3 e e ARl (o) Frfife 3 & e el & o a1 e
(A) 2002 31% 2014
(B) 2002 31 2017
(C) 2010 37 2017
(D) 2010 37 2022

(E) U =151 T man

& Q.35 India’s official portal for Medical Value Travel (MVT) for those who want to
avail medical treatment in India had been launched by which of the following
ministries?

(A) Ministry of AYUSH

(B) Ministry of External Affairs

(C) Ministry of Health and Family Welfare
(D) Ministry of Tourism

(E) Not Attempted

URd H FRIfh o SUAR &1 1Y 3 & S5 ARl & (ol HRA BT SHTUBIRD
Oiéd Afeed g cad (Tadiel) Frafifa & 3 frw vy gry <= fear man
82

(A) STY HATCHA
() fagwr AT |
(C) WY 3R URER Hedrur HATead
(D) Ue HATe™
(E) UITT 8! fbar
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£Q.36 Sir creek dispute is between India and which of the following other
countries?

(A) Bangladesh
(B) Burma

(C) Maldives

(D) Pakistan

(E) Not Attempted

Wi f[daTe URA SR FufifEa ¥ A g dud dadr
(A) TQTCRT

(8) ST

(C) ATCIId

(D) U™

GERISEHIERIKE]

Q.37 Tankha Committe for election reforms in India was constituted in which of
the following years?

(A) 1980

(B) 1990

(C) 2000

(D) 2010

(E) Not Attempted

YR & FTE QR & foTT a1 wfdi &1 16 Fafeed # 4 fog au # o
T YT |

(A) 1980

(B) 1990

(C) 2000

(D) 2010

(E) WA ol fpar T
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Q.38 Which of the following country was not among the founding members of
OPEC when it was created in 1960?

(A) Iran

(B) Iraq

(C) Qatar

(D) Venezuela

(E) Not Attempted

PR & & 1 1 3% 1960 T 3w 3 T b THY S SRS a3
CERRIIE

(A) S

o]

(C) PR

(D) dgEaT
(FRRIRERIERIRIC]

Q.39 Where and when was the South Asian Association for Regional
Cooperation (SAARC) founded?

(A) Colombo 1985
(B) Dhaka 1985

(C) New Delhi 1985
(D) New Delhi 1986
(E) Not Attempted

GRéror TR AT TE U IS (SAARC) B RIGHT BaY 3R Fa g o
(A) DI 1985

(B) GTPT 1985
(C) % faeelt 1985
(D) TS feeeh 1986
(E) 9419 g1 foban
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2 Q.40 How does China’s Belt and Road Initiative (BR1) impact the geopolitics of
the Indian Ocean with respect to India’s strategic interests?

(A) It strengthens India’s naval dominance in the Indian Ocean.
(B) It enhances India’s trade connectivity with Africa and the Middle East.

: -y _ )
(C) Itincreases China’s influence in the Indian Ocean raising security concerns for
India.

(D) It has no geopolitical impact on India.
(E) Not Attempted

9 P dee S IS U (8RI) HRA & e fgdl & day & fdg HerR &t
YRS BT B T el 27
(A) T8 TeT FETHIR & HRa 3 e 11 ) il R 8|
(B)%Wﬁ?umqﬁ%muwﬁwﬁ%ﬁaaﬁm%
%T%Hmﬁ%ﬂqmumagm%mw%ﬂw?&ﬂﬁmm

| |
(D) 3HHT HRA W DIS YIS TuE el 2| .
(E) YA ol fohar T |

Q.41 Positivism in geography emphasizes on which among the following?
(A) The use of subjective interpretations in geographical studies.

@ The application of scientific methods and empirical observation.

(C) The rejection of quantitative techniques in geographical research.

(D) The reliance primarily on historical and cultural perspectives.

(E) Not Attempted

Wie § yagrare Fafifad 3 @ firg R iR &l 82

(A) HTferes 31z § SAfdauRa ArRanel &1 Uil

(B) IR AR 3R SFIHTSI 3dciich T SFIUIT|

() NI S & AETHS dob-id! &1 SRalpid |

(D) T & 4 Ufg1Ries SR ikgplae 2o w Al
(E) Iy =11 fepar T
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Q.42 Who among the following gave the concept of Social Darwinism?

(A) Alfred Hettner

(B) Friedrich Ratzel
’ (C) Griffith Taylor

(D) Richthofen

(E) Not Attempted

Prafifag & Q e e SId-dTg &1 SayRo &7
(A) 3(TS BTN

(8) PSR Yeuid

(c) By R

(D) =it

(E) AT gl fohar ar

Q.43 Who among the following did not believe in Possibilism?
(A) Carl Ritter

(B) Isiah Bowman

(C) Lucien Febvre

(D) Jean Brunches

(E) Not Attempted

frafefa o ¥ o Syadre § [y el o dr T
(A) BTe R
NEERICIEN
) o R
(D) I
(E) TATH 51 e Tt
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Q.44 Who among the following is considered as the founder of Human
Geography?

(A) Oscar Peschel

(E)_Paul Vidal de la Blache

(C) Richard Hartshorne

(D) Richthofen

(E) Not Attempted

AR 3 fob& HITa 27l o7 ey HIT oIt 87
(A) STEHT U

(B) UTd IS Sl I & SIS

(c) s grexiA

(o) Fearitt

(E) T 761 b T

Q.45 Who among the following was the author of the book ‘Civilization and
Climate’?

(A) Gilbert White

(B) Ellsworth Huntington

(C) Peter Gould

(D) Wolpert

(E) Not Attempted

EeINIEnE AR ﬁrﬁaﬁm@msﬁz T & AP U?
() e gI8C
(B) Teay gfdted
(o UleR TS
(D) AU
(E) U1 g} fopar Tl
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Q.46 Who among the following was not a Greek Geographer?
_(A) Claudius Ptolemy

(B) Eratosthenes

(C) Pomponius Mela

(D) Herodotus

(E) Not Attempted

Fafafeaa o 9 & garT WEiad el Ur?
(A) FAITSTY eTadt

(B) RICIRUIS

(C) g Aalr

(D) BISIeH

(E) U0 gl foba 71

Q.47 The concept of 'Limits to Growth' was proposed by which among the
following?

"-EA_) Club of Rome

B) United Nations Develovpment Programme
(C) World Bank

(D) World Economic Forum
(E) Not Attempted

fifreg g My / fawmra &1 HH S seyrun FHafeied # 3 feud gri
UdTfad &1 718 oi?

(A) T HTH A

(B) Tgerl X1 faepTe vl

() fayd®

(D) fay enfde

(E) T g1 febdT 1T
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Q.48 Who gave the Principal of Unity in Diversity?
(A) Alexander von Humboldt

(B’)'Carl Ritter

(C) Emmanuel de Martonne

(D) Gibbs

(E) Not Attempted

s H Tl &1 Rigid foeem i
(A) ST SR dIH Balee

(B) I R

(C) SHITA ST AR

(o) T

(E) W e foban T

Q.49 Which of the following statements with reference to Friedrich Ratzel is not
correct?

(A) He believed in Determinism

(B) He coined the term Anthropogeography
(C) He worked at University of Leipzig

(D) He wrote a book on Physical Geography
TE) Not Attempted

mh@a$mﬁﬁmﬁﬁaﬁqmmﬂﬁﬂﬁﬁ?
(A)asﬁauaraﬁ%mmﬁa

(B) SR TRNUISHIIG] Tes gl

(0) S cufer fawyfaemer # om faar

(D) SR e it TR U e forell

(E) TR gl feb T 7T
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Q.50 Who among the following opposed Quantitative Revolution?
(A) David Harvey

(B) L. D. Stamp

(C) Peter Haggett

(D) Richard Chorley

(E) Not Attempted

Frafafea 3 @ fpam amres sifa &1 faiy fear ure

Q.51 What will be the circularity ratio (Rc) of a perfectly circular river basin?
(A)-1

(B)O

(C)o.5

(D)1

(E) Not Attempted

U Ui GRITehR e} S &1 JHIBR S0 (Re) T EITT?
(A) -1

(8)0 | -

(€)0.5

(D) 1 -

L (E) v e T

9
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Q.52 In Strahler’s stream ordering system, when one stream of second-order

merges With a stream of third order, the resulting stream is of which order?
(A) First Order Stream

(B) Second Order Stream
(C) Third Order Stream
(D) Fourth Order Stream
(E) Not Attempted

FIEW B I TSN Ut F, S o 557 ) U RT e 57 Y URT &5
e R B SIeh 8, 1 oRom sy Ry oy aft el 2

(A) TUH S H BT YRT

(B) TR 8 I URT

(C) TRRT SHH BT YRT

(D) TUTSHH BT URT

(E) VY a1 feban T

Q.53 Which of the following is best suited for showing the proportional
distribution of various geographical elements?

(A) Line Graph

(B) Bar Diagram

_(9 Pie Diagram

(D) Flow Maps

(E) Not Attempted

faft lﬁﬂ%ac—ol‘féa 3T faarur &1 g=iH & forg Fafafea d 9 eF
Tl SUged §7

(A) T TR
(B) IR 3RT
(C) UTS SR
DECIIBICE
(E) WaT Tg! fbam 77
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. : ?
Q.54 The scale of an aerial photograph is larger in which of the following case

' (A) The camera is at a higher altitude.
(B) The camera is at a lower altitude.

_(C) The photograph is taken at an angle of 75 degree.
(D) The photograph covers a larger area
(E) Not Attempted

frafeied & & frw RURY & gars ek &1 9T ST 8laT 82
(A) BRI 31fdeh Fas W R

(B) PRI HH SHAE R |

(C) TER 75 SR F PO A TE R

(D) AR T Ig & B HR B 2|

(E) T ~Ta| fobar Ty

Q.55 Which of the following statements about Landsat-8 is correct?
(A) It provides data only in visible and infrared bands.
(B) It is jointly operated by NASA and USGS.

(C) It does not support remote sensing applications.
(D) It was launched in the 1980s.
(E) Not Attempted

dedie-s b Yy # PR A Y s e Hu el &2

(A) T8 Had TTHM AR 3faa (IIHRE) S8 H eI UgH Halr gl
(B) S NASA 3R USGS §RT Tgad ¥ J Feferd fpar sirar g |

(c) Tg Rt TRIT srgvrirt &1 gmef= =) S|

(D) Y 1980 P GX1@ T Al faw T 7T T |

(E) T e fepam Tmar
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is th : _
Q.56 What Is ) e_SpatlaI resolution of Linear Imaging Self-Scanning Sensor-4
(|_|SS-4) satellite imagery?

(A) 2.8 meters

(B) 5.8 meters

(C) 23.5 meters
(D) 30.0 meters
(E) Not Attempted

Eﬂﬁ;mi}w—wwﬂ (LISS-4) IUIG SHORI 1 RIS Refleg2H
167

(A) 2.8 HICR

(8) 5.8 HIcR

(C) 23.5 HIX

(D) 30.0 HIcY

(E) TR g1 T Ty

Q.57 Which one of the following is not a component of Geographic Information
System (GIS)?

(A) Data

(B) Hardware

(C) Satellite

(D) People

(E) Not Attempted

@_ﬁg%@ﬁﬁﬁﬁ?wmmwm(mmmﬂﬁ%?
(A) ST
(B) BT ATR
(€) SR
(E) TR T fram T
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Q.58 A river basin has a total stream length of 1,200 km and a drainage density
of 3.0 km/km?. What is the approximate area of the basin?

(A) 300 km?
(B) 400 km?
(C) 600 km?
(D) 800 km?
(E) Not Attempted

T TS IR N o TAYRT 1 aTs 1,200 fHT 3R 3fTarE o7 3.0
et/ fpeie 8 | SRy 1 e @ fhaT B2

(A) 300 fpH2

(8) 400 ferH}2

(C) 600 faiP2

(D) 800 faHil2

(E) WO Teit fopa et

Q..59 A hill slope has an elevation difference of 450 meters over a horizontal
distance of 1.5 kilometers. What is the slope gradient (%) of the hill?

(A) 15% -

(B) 25%

(C) 30%

(D) 35%

(E) Not Attempted

U URIS! o H 1.5 fhamieR 3T &fos gt R =i &1 3fak 450 ez B
URTS! 1 Gl HaUrdT (%) 1 82 |

(A) 15%

(B) 25%

(C) 30%

(D) 35%

(E) AT a1 fobar man
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Q.60 Which of the following satellite-based navigation systems belongs to
India?

(A) GPS

(B) GLONASS

(C) NavIC

(D) BeiDou

(E) Not Attempted

Fafafad 3 @ B9 91 Swrg-snuid MR Rrer yRa B13?
(A) SiTdTS

(B) TAHTY

(e

(D) Sl

(E) T Tgi foharm T

Q.61 Which of the following peaks of Himalayas in India has a height of more
than 8000 meters?

(A) Nanga Parbat
(B) Namcha Barwa
(C) Nanda Devi

(D) Kamet

(E) Not Attempted

R A fRHred &1 Fofrfd 3§ e 91 @ hars sooo Hex @ i 22
A) T Tdd
(B) STTH=IT SRl
) er
(D) PTHE
(E) T g fohar T
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—

Q.62 Which of the following states of India experience Mango showers?
(A) Bihar

(B) Meghalaya

(gKarnataka

(D) Uttar Pradesh

(E) Not Attempted

JRa ¥ PR d S fru Tea | ey awi gl 62
() feBR

(B) HETET

(C) PAleH

(D) STR UG

EERISERIERIRIE

Q.63 With reference to Temperate forests in South India, which of the following
statements is/are correct?

1. They are also known as Sholas.
2. Magnolia is an important tree found in these forests.**

(A) Only 1

(B) Only 2

(C) Both1and 2
(D) Neither 1 nor 2
(E) Not Attempted

=feor yRe B S as $ ged B P i Ao WA T T8 8/6
1. e F T W ST g |
> AefRrT = 9= & UTan T aTel Ueb Heaqui 94l 8|

(A) Had 1
b (B) had 2
(C) 1 3R 2 &I
(D) A 1 3RAT 2
EREISERHIERIREI
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Q.64 Se;hachalam biosphere reserve is located in which of the following states
of India

L/}_)'Andhra Pradesh
(B) Karnataka

(C) Kerala

(D) Telangana

(E) Not Attempted

QT TAGIR Rerd URa & Frofiied 3§ 3 frg oo 3 fRa g
(A) TS TSR

(B) BAICD

(C) PR

(D) T

(E) YT 181 T T

Q.65 Which of the following is a West flowing river in South India?
(A) Krishnavati

- (B) Palar
(C) Penner
(D) Periyar
(E) Not Attempted

S AuRiRa & Y S afeor URa & uRm # iR gg i e 82
(A) P

(B) UTedX
(C) TR

(0) ARAR
(E) WO g fopar T
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Q.66 Which of the following states in India is not important for production of
Groundnut?

A) Bihar

(B) Gujarat

(C) Rajasthan

(D) Tamil Nadu

(E) Not Attempted

WA § Faffed & o o ve e & e & g @yl 61 82
(A) faBR

(B) ORI

(C) ST

(D) AAETg

(E) WAy =g fopar man

Q.67 As per Annual Report of the Ministry of Mines, Government of India 2024—
25, which of the following states are the leading producers of Copper in India?
(A) Madhya Pradesh and Karnataka

(B) Madhya Pradesh and Rajasthan

(C) Rajasthan and Jharkhand

(D) Rajasthan and Karnataka

(E) Not Attempted

G AT, HRA WRBR B alies RUIE 2024-25 & SR, Fofafaad @
B Y T URd H did & 3ufl SdTeH 77

(A) Ted USRI 3R FHilcd

(B) HEH TS 3R ISR

(C) ISTRIM 3R IRTS

(D) ISTRIT 3R Hlch

(E) T e fobar
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Q.68 As per the India State of Forest Report 2023, which district in Haryana has
the largest area under forest cover?

(A) Jhajjar

(B) Jind

(C) Palwal

(D) Panchkula

(E) Not Attempted

YR o4 99 RUIE 2023 F S8R, gRamon ¥ fee e 7 977 3maRor ¥ siafa
RERKCEIRE N

(A) i

[(B)\‘rﬂ"c.' .

(C) TTad

(D) Ul

(E) ST ! fomar
4

#Q.69 National Waterway Number 10 (NW-10) has been developed on which of
the following river?

(A) Amba

(B) Ambalika

(C) Mandovi

(D) Narmada

(E) Not Attempted

I SRt §EAT 10 (Nw-10) FafeRad 7 & fobd 7 R faepRid fean marg?
(A) ST

(B) S{¥TeThT

(c) Hadt

(D) TTHaT

(E) T g1 fopar 7ran
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Q.70 What was the total number of Class VI towns in India as per Census 2011?
(A) 4

(B) 42

(C)424

(D) 4242

(E) Not Attempted

2011 T SEIUFT ¥ SR HRA & Fof vi $ el ) e s faberH ot
(A) 4

(B) 42

(C) 424

(D) 4242

(E) 9T el fovar
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(A) Gondwana
(B) Laurasia

(CLPangaea
(D) Eurasia

(E) Not Attempteq

mmmﬁa DT UT?
(A) Trsary ST

(B) SRRy

(C) UfSra

(D) GRfRmy

(E) TS T fyayy ey

(A) Caroline Plate

(B) Juan de Fuca Plate
(C) Nazca Plate

(D) Scotia Plate

(E) Not Attempted

ﬁyﬁfﬁ@aﬁﬁﬁqmﬁaﬁﬁa@m@?m- ST
(A) BRI e | BT

(B) T3 S Bepl @i

(C) TSP e

(D) WhifcaI e

(E) YT a1 fpar Tn
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Q.73 Which of the following is not an example of chemical weathering:
{A) Acid Action
(B) Exfoliation

(C) Hydrolysis
(D) Oxidation
(E) Not Attempted

Fafeied & O o wr T smem w1 Iee T8 8
(A) 317 T

(B) S{URTeh T (Tawpifiuwm)
(C) BT SITOIRIY

(D) 3HiRftpur

(E) T =781 T gy

Q.74 The shadow zone of Primary (P) waves of an earthquake is observed
between which of the following two angles from the Hypocentre?

(A) 103-143 degree
(B) 103-133 degree

(C) 113-133 degree
(D) 113-143 degree
(E) Not Attempted

wﬁmm(p)mmwmmmaﬁmﬁma
DI P S W1 el 672

(A) 103-143 f&¥I

(B) 103-133 f&

(C) 113-133 &I

(D) 113143 f&

(E) T -Te! fep T
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Q.75 Which of the following is released in abundance during 2 volc
(A) Chlorine

(B) Hydrogen

(C) Sulphur Compounds
(D) Argon '

(E) Not Attempted

ST faehie 3 dre : ' ?
- Frafafed & & &5 g omn  Pread @

(B) BIS SIS

(C) TehR OfTH

(D) 3IRT

(E) 9T =Tet foay mrqy

Q.76 Who among the followin
(A) L. C. King

(B) R. S. Wood

(C) W. Penck

(D) W. M. Davis

(E) Not Attempted

g proposed the slope replacement theory?

Frafafed & & o g 3 o ufiems Rigid wiama B o
(A) T, 1. T :

(B) 3R. TH. S

(C) S, U

(D) S, TH. Sfa9
(E) U0 el foar
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Q.77 Which of the following is found in regions with hot and arid climate?

(A) Pattern ground

(E) Not Attempted

TR & & o e o S T T A e Tl 37

() U= Yo

() famm

(C) AT

(D) TleST
EERISEEHIERIRI]

.78 With reference to ‘Natural Levee’ which of the following statements is/are

correct?

1. Itis an example of a depositional landform.
2. They are always perpendicular to the river.
(é)‘ Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Not Attempted

i desdy & e f FoffRa g S a/A FuT wdi o/8?

1. ¥ F&YUTES VU P ISERU & |
2 AEAW AN S dad g 6|

(A) Fad 1

(B) Hdd 2

(C) 1 3R 2 &

(D) a1 3RAT 2

(E) U419 a1 fharman
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Q.79 Which one of the §
ollowing j
(A) Meander 8 Is not a landform?

(B) Moraine

(C) Horn

(D) Polje

(E) Not Attempted

(A) fagd ‘
(8 fele @)

(C) BH

(D) Ulest

(E) 7T ot foram gy

Q.80 Which of the following is not a glacial landform?
(A) Cirque

(B) Fiords

(C) Horn

(D) Lapies
(E) Not Attempted

Prafiad § A3 R e T8 e
(A) T

(B) fhaIS

(C) B

(D) AU

(E) IO gl fopar 7
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Q.81 Which of the following gasses is found in smallest volume in the
atmosphere?

(A) Argon

(B) Carbon Dioxide
(C) Helium

(D) Hydrogen

(E) Not Attempted

Fafied & ¥ o 6 i argrise & wo &0 A & o o 2
(A) 3

(B) HTe- SRAHTURS

Q.82 Height of the troposphere is greatest at which of the following latitudes?

(A) Equator

(B) Tropic of Capricorn
(C) Antarctic Circle

(D) South Pole

(E) Not Attempted

FafiRed ¥ 9 59 siei w eivred @ S ga o1 gt 22
(A) YTIE X

(B) HHR 3T

(C) 3{UCThieH g

(D) <f&oft ¢fa

(E) U 8! fobar Tan
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Q.83 Temperature inversion may occur throughout the year on which of the
following latitudes?

(A) Equator

(B) Tropic of Cancer
(C) Arctic Circle

(D) North Pole

(E) Not Attempted

Fafaea o 9 fey Mmmﬁﬁww/mﬂam%
(A) e T

(B) b X1

(C) 3Hrehfesh

D) ST Ya .

(E) T e fosan

Q.84 General circulation of the atmosphere does NOT depend on which of the
following?

(A) Pressure belts

(B) Distribution of continents and oceans
(C) Rotation of the Earth
(D) Lines of Longitudes

(E) Not Attempted

a@qsammmqﬁﬂwﬁaﬁf@ﬁﬁﬁmmﬁﬂkﬁm%v
(A) Gt B are afedr

(B)%@ﬁﬁ?mmm

(C) Gt T YU

(D) SRR X@M

(E) T el fohdT 7T
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Q.85 Which of the following is NOT a cold air mass?
_(A) Maritime Tropical

(B) Maritime Polar,

(C) Continental Polar

(D) Continental Arctic

(E) Not Attempted

 PeRRT AR SR AR T &
p (A) T} SUE et
(B) TSt 4T
(C) FRTG U ydig
(D) HETSIUIT 3{Thfew
(E) T Toi fobdn T

Q.86 Which of the following statements is @I’correct with reference to
Chinook winds?

(A) It blows in North America

(B) It blows from west to east

(C) It is a rain bearing wind

(D) It is a warm wind

(E) Not Attempted

oy Tareit & Seu i Fufiied & @ &1 91 FUA 981 el 62
(A) TE IR! ARSI Tl 3

(8) TE U A qd ! 3R F5<ll &

(c) T8 anf A are ga ®

(D) T TH EaT].

(E) T -Tg 1 fasan T
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Q.87 Tropical Cyclones are termed as Typhoons along which

seas?

(A) Caribbean Sea
(B) Sea of Okhotsk
(C) Red Sea

D) South China Sea
(E) Not Attempted

i A & e s W S fRs agard it ere g Be ol 87
(A) SRS TR

(B) 3RAleTs YRR

(C) AT 9R

(D) SH&or HT grR

(E) IR g1 o Ty

Q.88 Marine West Coast Climate not found in which of the following regions?
(A) West Netherland

(B) Northern Chile

(C) North New Zealand
(D) Western Canada
(E) Not Attempted

ATCTRE o 9 ot &t & wegst o o ot srerag T o e 2
(A) T R

(B) ST fereft

(C) SR ehdis

(D) UTEH} BATST

(E) WA =1g] fobar
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Q.89 Humid continental climate is designated by which of the following as p

the Koppen's classification of climate?
(A) Cf

(B) Cw

(C) Df

(D) Dw

(E) Not Attempted

PV T T 5 SR O FeTEe srerarg Frafei 7 & fbwd
a1 fAfdy B ot 82

(A) Cf

(B) cw

(C) Df

(D) Dw

(E) 9T =Tal foear

Q.90 Which one of the following is not a Green House Gas?
(A) Carbon Monoxide

(B) Carbon Dioxide

(C) Methane

ng Nitrous Oxide

(E) Not Attempted

T i IR R AT e=T g Teie?
(A) FIe- A TS S

(B) BT SIS 3RS

(C) T

(D) TTECH 3fGISS

(E) WO g1 fopan T
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Q.91 Which of the following trench in the Pacific Ocean is situated to the North
of the Equator?

(A) Atacama Trench
(B) Bonin Trench

(C) Tonga Trench

(D) Kermadec Trench
(E) Not Attempted

TR WETR A Faffd o & & a1 meramri 11 e T & IR 7 R
8?

(A) STCTHTHT T

BEIEERIG]

(C) T,

(D) PIHISH T

(E) TR =Tt T T

Q.92 Dolphin ridge is situated in which of the following oceanic regions?
(A) North Pacific Ocean
(B) South Atlantic Ocean
(C) South Pacific Ocean
(D) North Atlantic Ocean
(E) Not Attempted

Eﬁﬂﬁmﬁqﬁf@aﬁ@rmmﬁaﬁ@ﬁ%
(A) STR! Ud HENEIR

(B) GI&UT 3fedifesds HerarR

(C) TT&UT U= HEFR

(D) SR 3fcdifed AENNR

() T =Tg! foba Tra
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Q.93 With reference to ‘Spring Tide’ which of the following statements is/are
correct?

1. Sun, moon and the earth are in a straight line.
2. Itis a monthly phenomenon that happens once every month.

JA)Only1
(B) Only 2
(C) Both1and 2
(D) Neither 1 nor 2
? (E) Not Attempted

I / & W & Yool B Fafifea 8 4 & 91/ sy 98l 8787

1.9, T 3R gedt g el v@ A e B

2. T8 U HIRYS Ue1 8 S sY He H T R I B
(A) Had 1

(B) HAd 2

(C) 1 3R 2 3T

(D) a1 3R T8N 2

(E) U =Tgl fobar T

Q.94 Which of the following forces is primarily responsible for creating tides?
(A) Buoyant Force

(B) Frictional Force
_(C) Gravitational Force

(D) Coriolis Force

(E) Not Attempted

Frafafea o 9 & 9 90 SR S0 $1 & i Ter Fu 4 fsiieR 82

(A) S ddl
(B) TNUT
(C) TGyl §d
(D) PIRSM §d
(E) IO 81 fobat T
50 GEOGORAPHY / 2025
SETC

Scanned with CamScanner


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda47

i erature
Q.95 At which of the following latitudes is the smallest change in temp
of oceanic Water is ob
(A) North Pole
(B) Tropic of Cancer
(C) Tropic of Capricorn
(D) Equator
(E) Not Attempted

served with increasing depth?

AR & & g SIS OR e TeRré 3 ey FETATYa Sfed 3 A H
mmqﬁaﬁww%?

(A) ST 4q

(B) Hh T

(C) AR X

(D) YH Yy

(E) TR Tt fofa vy

Q.96 Salinity in sea water is
(A) Density of sea Water
(B) Evaporation

QCZ Tides

(D) Temperature of sea water
(E) Not Attempted

not affected by which of the following?

Sl STt H v a3 R v T e 2
(A) THS O ST Y

(B) ATSdIeHTT

(C) SAR

(D) HY& ST &1 dIgaT

(E) TR g1 fopam T
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Q.97 Which of the following Sea has the highest salinity?
(A) Aral Sea
(B) Black Sea
(C) Caspian Sea
(D) Dead Sea
(E) Not Attempted

Fofifed 3 J frg arR § gaifte aaud e?
(A) SR UMY

(B) T IR

(C) HIUTT TR

(D) Hd WX

(E) WO ol [l T

Q.98 With reference to ‘ocean water below thermocline’ which of the followlng
statements is/are correct?

1. Temperature of water in this zone approaches zero degree centigrade.
2. Around 90 percent of ocean water lies in this zone.

(A) Only 1 '

(B) Only 2

(C) Both1and 2

(D) Neither 1 nor 2

(E) Not Attempted

HipaET ¥ S ¥ TeRTRE o $ Je # Fuffea A e s a/d
HYT T8I 8/a?

1.3 & T ofet 1 aTaeH Y f30 A a@ uga W g |

>, TETENRY P TRTHT 90 Ui oiet 34t & F &

(A) P 1

(B) Hdd 2

(C) 1 3R 2 gl
(D) 1 3RABI2
(E) T a1 fwam an
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Q.99 Which of the following currents flows in the Pacific Ocean?
(A) Agulhas Current

(B) Benguela Current

C) Oyashio Current
(D) West Australian Current

(E) Not Attempted

Fafaied & 9 S99 @ urT =i TeraR ¥ awd 2
(A) SR URT

(B) SN[U@T ¥RT

(C) NI YT

(0) Uf3m SreferaTs Uy

(E) U0 &1 fovar oy

Q.100 Which of the following is a warm ocean current?
(A) Alaska Current

(B) California Current

(C) Oyashio Current

(D) West Australia Current
(E) Not Attempted
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